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BR3—2 BEWICERTHLBESNAHRICET SFE1/1) _ _ T
SEMMOME | EmES 203AN5171-2 BT \ 1Pl 5B | FRTEML AT R Rl
. SEMMOTIHICHEET S EERHA
ﬁf&g TREOBBOEILADKRES TREDOHBEBSSLADKRES TREOBBOEILADKRES TREDHEBSSLHDKRES
; 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEZ 5 -~ — — —
ZznLst 1.00 1 000 ~ 476 59.32 | =hs (000 ~ 476|177 947 znLs 1.00 | 5.00 ~ 56.00 59.32 | #ns | 5.00 ~ 50011.77 947
2 100kN/mMZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 1 000 ~ 476 59.32 | =hUS 000 ~ 476|177 947 znLs 1.00 | 5.00 ~ 56.00 59.32 | #ns | 5.00 ~ 50011.77 947
3 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 581 7267 | EnLSY | 000 ~ 581 1.85 9.92 znLs 1.00 | 5.00 ~ 6.70 72.67 | ENRS | 500 ~ 6.70 | 1.85 9.92
4 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ b6.46 68.08 | =nllst | 000 ~ 546 1.96 10.50 znLs 1.00 | 5.00 ~ 6.60 68.08 | Tns | 6,00 ~ 6.60 | 1.96 10.50
5 100kN/mMZ#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ b5.06 63.01 | =Nt | 000 ~ 506 2.08 11.14 znLs 1.00 | 5.00 ~ 6.70 63.01 | ThS | 6,00 ~ 6.70 | 2.08 11.14
¢ 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
Zh LS — -~ = — | Zh st -~ = — — Zh LS — — ~ — —| 2h st — ~ — — —
7 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
Zhs — -~ = — | Zh st -~ = — — Zh LS — — ~ — —| 2h st — ~ — — —
3 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#Z B -~ — — —
ZznLst 1.00 | 0.00 ~ b6.564 69.17 | TS | 000 ~ 5564 2.05 10.96 znLs 1.00 | 5.00 ~ 7.30 69.17 | FhS | 6,00 ~ 7.30 | 2.05 10.96
9 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 6.24 7838 | =St | 000 ~ 624 1.91 10.24 znLs 1.00 | 5.00 ~ 7.70 7838 | EnRS | 600 ~ 770 | 1.91 10.24
70 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 4.40 54.90 | =hUS | 000 ~ 440|232 12.43 znLs 1.00 | 5.00 ~ 7.70 54.90 | =nS |5.00 ~ 7.70 2352 12.43
17 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ b5.04 62.77 | TS | 000 ~ 504 1.97 10.56 znLs 1.00 | 5.00 ~ 6.00 62.77 | FhS | 6,00 ~ 6.00|1.97 10.56
19 100kN/mMZ#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#Z B -~ — — —
Lo 1.00 | 0.00 ~ 4.44 55.36 | =S | 000 ~ 444|1.94 10.40 znLs 1.00 | 5.00 ~ 56.00 55.36 | =nLS | 6.00 ~ 5.00| 1.94 10.40
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 25 ~ ImEFEZD ~
ZhLSH ~ ThLlst ~ LS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 2% ~ ImEFEZD ~
TS ~ ThLLst ~ NS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/mM%#B 2% ~ ImEFEZD ~
Zhst ~ Zh Lot ~ Zh LS ~ ZhLLs ~




